Ratio to ATLAS

1074

107>

[EEY

0.5

13000 GeV pp

B [ S I I L L L A L B BN I B I %P
top . . é
| pT (ATLAS semileptonic ttbar) B s
— 0=
— —
— o
- A
o
— — <
—
= —{®
= 0
— =
— Jx
=i =1%)
— ™
— <
— ™M
L 1o
— -0
™
- — <
_ %
= m ATLAS 5=
— —— Pythia 8.308 default ] g
— —&— Pythia 8.308 default-noCR 13
(@]
B R
s
— — &
— 02
| | — | — | PN I I I 5 -

: | T T T T | T T T T | T T T T |:

— =2
W*///i 1

L —0.5

P R T T TR S O T T T S T T T S l
500 1000 1500 2000

pt" [GeV], Iy in [0,1]



	Contents
	Page 1


